
%FOURCP.M: PLOTS FOUR COORDINATE PAPER for MATLAB 6.0  081121 
%Frequency axis set to .1 to 10K Hz  in line 176 
%by Howard A. Gaberson, 234 Corsicana Dr.; Oxnard, CA 93036-1300 
%(805)485-5307, hagaberson@att.net 
% 
% 
k=2*pi/386.087;c=2*pi; 
fl=.01;fr=100000;kl=k*fl;kr=k*fr;cl=c*fl;cr=c*fr; 
%Now g decade lines from g=0.01 to g=10,000,000 or g=10e-3 to g=10e+6 
gm4=[10e-4/kl 10e-4/kr]; 
gm3=[10e-3/kl 10e-3/kr];gm2=[10e-2/kl 10e-2/kr];gm1=[10e-1/kl 10e-1/kr]; 
g0=[10e+0/kl 10e+0/kr];g1=[10e+1/kl 10e+1/kr];g2=[10e+2/kl 10e+2/kr]; 
g3=[10e+3/kl 10e+3/kr];g4=[10e+4/kl 10e+4/kr]; 
g5=[10e+5/kl 10e+5/kr];g6=[106e+6/kl 10e+6/kr]; 
%That's all the constant g decade ordinates; plot'em. 
flr=[fl fr]; 
loglog(flr,gm4,'k',flr,gm3,'k',flr,gm2,'k',flr,gm1,'k',flr,g0,'k',flr,g1,
'k',... 
flr,g2,'k',flr,g3,'k',flr,g4,'k',flr,g5,'k',flr,g6,'k') 
hold on 
 
%Now z decade lines from 0.00001 to 100,000 or 10e-6 to 10e+4 
zm6=[10e-6*cl 10e-6*cr];zm5=[10e-5*cl 10e-5*cr];zm4=[10e-4*cl 10e-4*cr]; 
zm3=[10e-3*cl 10e-3*cr];zm2=[10e-2*cl 10e-2*cr];zm1=[10e-1*cl 10e-1*cr]; 
z0=[10e+0*cl 10e+0*cr];z1=[10e+1*cl 10e+1*cr];z2=[10e+2*cl 10e+2*cr]; 
z3=[10e+3*cl 10e+3*cr];z4=[10e+4*cl 10e+4*cr]; 
%That's the constant z decade ordinates; plot'em. 
loglog(flr,zm6,'k',flr,zm5,'k',flr,zm4,'k',flr,zm3,'k',flr,zm2,'k',flr,zm
1,'k',... 
flr,z0,'k',flr,z1,'k',flr,z2,'k',flr,z3,'k',flr,z4,'k') 
 
%We do the interdecade lines separately because we want them thinner. 
%THS ADDS A SET OF CONSTANT ACCEL INTERDECADE LINES fr .0001 .001 
gm52=[2*10e-5/kl 2*10e-5/kr];gm53=[3*10e-5/kl 3*10e-5/kr];gm54=[4*10e-
5/kl 4*10e-5/kr]; 
gm55=[5*10e-5/kl 5*10e-5/kr];gm56=[6*10e-5/kl 6*10e-5/kr]; 
gm57=[7*10e-5/kl 7*10e-5/kr];gm58=[8*10e-5/kl 8*10e-5/kr];gm59=[9*10e-
5/kl 9*10e-5/kr]; 
loglog(flr,gm52,'k',flr,gm53,'k',flr,gm54,'k',flr,gm55,'k',flr,gm56,'k',f
lr,gm57,'k',... 
flr,gm58,'k',flr,gm59,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT ACCEL INTERDECADE LINES fr .001 .01 
gm42=[2*10e-4/kl 2*10e-4/kr];gm43=[3*10e-4/kl 3*10e-4/kr];gm44=[4*10e-
4/kl 4*10e-4/kr]; 
gm45=[5*10e-4/kl 5*10e-4/kr];gm46=[6*10e-4/kl 6*10e-4/kr]; 
gm47=[7*10e-4/kl 7*10e-4/kr];gm48=[8*10e-4/kl 8*10e-4/kr];gm49=[9*10e-
4/kl 9*10e-4/kr]; 
loglog(flr,gm42,'k',flr,gm43,'k',flr,gm44,'k',flr,gm45,'k',flr,gm46,'k',f
lr,gm47,'k',... 
flr,gm48,'k',flr,gm49,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT ACCEL INTERDECADE LINES fr .01 .1 
gm32=[2*10e-3/kl 2*10e-3/kr];gm33=[3*10e-3/kl 3*10e-3/kr];gm34=[4*10e-
3/kl 4*10e-3/kr]; 
gm35=[5*10e-3/kl 5*10e-3/kr];gm36=[6*10e-3/kl 6*10e-3/kr]; 
gm37=[7*10e-3/kl 7*10e-3/kr];gm38=[8*10e-3/kl 8*10e-3/kr];gm39=[9*10e-
3/kl 9*10e-3/kr]; 



loglog(flr,gm32,'k',flr,gm33,'k',flr,gm34,'k',flr,gm35,'k',flr,gm36,'k',f
lr,gm37,'k',... 
flr,gm38,'k',flr,gm39,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT ACCEL INTERDECADE LINES fr .1 1 
gm22=[2*10e-2/kl 2*10e-2/kr];gm23=[3*10e-2/kl 3*10e-2/kr];gm24=[4*10e-
2/kl 4*10e-2/kr]; 
gm25=[5*10e-2/kl 5*10e-2/kr];gm26=[6*10e-2/kl 6*10e-2/kr]; 
gm27=[7*10e-2/kl 7*10e-2/kr];gm28=[8*10e-2/kl 8*10e-2/kr];gm29=[9*10e-
2/kl 9*10e-2/kr]; 
loglog(flr,gm22,'k',flr,gm23,'k',flr,gm24,'k',flr,gm25,'k',flr,gm26,'k',f
lr,gm27,'k',... 
flr,gm28,'k',flr,gm29,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT ACCEL INTERDECADE LINES fr 1 10 
gm12=[2*10e-1/kl 2*10e-1/kr];gm13=[3*10e-1/kl 3*10e-1/kr];gm14=[4*10e-
1/kl 4*10e-1/kr]; 
gm15=[5*10e-1/kl 5*10e-1/kr];gm16=[6*10e-1/kl 6*10e-1/kr]; 
gm17=[7*10e-1/kl 7*10e-1/kr];gm18=[8*10e-1/kl 8*10e-1/kr];gm19=[9*10e-
1/kl 9*10e-1/kr]; 
loglog(flr,gm12,'k',flr,gm13,'k',flr,gm14,'k',flr,gm15,'k',flr,gm16,'k',f
lr,gm17,'k',... 
flr,gm18,'k',flr,gm19,'k','LineWidth',.25)% 
 
set(gca,'ycolor','k','xcolor','k') 
%THS ADDS A SET OF CONSTANT ACCEL INTERDECADE LINES fr 10 100 
g02=[2*10e+0/kl 2*10e+0/kr];g03=[3*10e+0/kl 3*10e+0/kr];g04=[4*10e+0/kl 
4*10e+0/kr]; 
g05=[5*10e+0/kl 5*10e+0/kr];g06=[6*10e+0/kl 6*10e+0/kr]; 
g07=[7*10e+0/kl 7*10e+0/kr];g08=[8*10e+0/kl 8*10e+0/kr];g09=[9*10e+0/kl 
9*10e+0/kr]; 
loglog(flr,g02,'k',flr,g03,'k',flr,g04,'k',flr,g05,'k',flr,g06,'k',flr,g0
7,'k',... 
flr,g08,'k',flr,g09,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT ACCEL INTERDECADE LINES fr 100 1000 
g12=[2*10e+1/kl 2*10e+1/kr];g13=[3*10e+1/kl 3*10e+1/kr];g14=[4*10e+1/kl 
4*10e+1/kr]; 
g15=[5*10e+1/kl 5*10e+1/kr];g16=[6*10e+1/kl 6*10e+1/kr]; 
g17=[7*10e+1/kl 7*10e+1/kr];g18=[8*10e+1/kl 8*10e+1/kr];g19=[9*10e+1/kl 
9*10e+1/kr]; 
loglog(flr,g12,'k',flr,g13,'k',flr,g14,'k',flr,g15,'k',flr,g16,'k',flr,g1
7,'k',... 
flr,g18,'k',flr,g19,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT ACCEL INTERDECADE LINES fr 1000 10000 
g22=[2*10e+2/kl 2*10e+2/kr];g23=[3*10e+2/kl 3*10e+2/kr];g24=[4*10e+2/kl 
4*10e+2/kr]; 
g25=[5*10e+2/kl 5*10e+2/kr];g26=[6*10e+2/kl 6*10e+2/kr]; 
g27=[7*10e+2/kl 7*10e+2/kr];g28=[8*10e+2/kl 8*10e+2/kr];g29=[9*10e+2/kl 
9*10e+2/kr]; 
loglog(flr,g22,'k',flr,g23,'k',flr,g24,'k',flr,g25,'k',flr,g26,'k',flr,g2
7,'k',... 
flr,g28,'k',flr,g29,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT ACCEL INTERDECADE LINES fr 10000 100000 
g32=[2*10e+3/kl 2*10e+3/kr];g33=[3*10e+3/kl 3*10e+3/kr];g34=[4*10e+3/kl 
4*10e+3/kr]; 



g35=[5*10e+3/kl 5*10e+3/kr];g36=[6*10e+3/kl 6*10e+3/kr]; 
g37=[7*10e+3/kl 7*10e+3/kr];g38=[8*10e+3/kl 8*10e+3/kr];g39=[9*10e+3/kl 
9*10e+3/kr]; 
loglog(flr,g32,'k',flr,g33,'k',flr,g34,'k',flr,g35,'k',flr,g36,'k',flr,g3
7,'k',... 
flr,g38,'k',flr,g39,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT ACCEL INTERDECADE LINES fr 100000 1000000 
g42=[2*10e+4/kl 2*10e+4/kr];g43=[3*10e+4/kl 3*10e+4/kr];g44=[4*10e+4/kl 
4*10e+4/kr]; 
g45=[5*10e+4/kl 5*10e+4/kr];g46=[6*10e+4/kl 6*10e+4/kr]; 
g47=[7*10e+4/kl 7*10e+4/kr];g48=[8*10e+4/kl 8*10e+4/kr];g49=[9*10e+4/kl 
9*10e+4/kr]; 
loglog(flr,g42,'k',flr,g43,'k',flr,g44,'k',flr,g45,'k',flr,g46,'k',flr,g4
7,'k',... 
flr,g48,'k',flr,g49,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT Z INTERDECADE LINES fr .00001 .0001 
zm62=[2*10e-6*cl 2*10e-6*cr];zm63=[3*10e-6*cl 3*10e-6*cr];zm64=[4*10e-
6*cl 4*10e-6*cr]; 
zm65=[5*10e-6*cl 5*10e-6*cr];zm66=[6*10e-6*cl 6*10e-6*cr];zm67=[7*10e-
6*cl 7*10e-6*cr]; 
zm68=[8*10e-6*cl 8*10e-6*cr];zm69=[9*10e-6*cl 9*10e-6*cr]; 
loglog(flr,zm62,'k',flr,zm63,'k',flr,zm64,'k',flr,zm65,'k',flr,zm66,'k',f
lr,zm67,'k',... 
flr,zm68,'k',flr,zm69,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT Z INTERDECADE LINES fr .0001 .001 
zm52=[2*10e-5*cl 2*10e-5*cr];zm53=[3*10e-5*cl 3*10e-5*cr];zm54=[4*10e-
5*cl 4*10e-5*cr]; 
zm55=[5*10e-5*cl 5*10e-5*cr];zm56=[6*10e-5*cl 6*10e-5*cr];zm57=[7*10e-
5*cl 7*10e-5*cr]; 
zm58=[8*10e-5*cl 8*10e-5*cr];zm59=[9*10e-5*cl 9*10e-5*cr]; 
loglog(flr,zm52,'k',flr,zm53,'k',flr,zm54,'k',flr,zm55,'k',flr,zm56,'k',f
lr,zm57,'k',... 
flr,zm58,'k',flr,zm59,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT Z INTERDECADE LINES fr .001 .01 
zm42=[2*10e-4*cl 2*10e-4*cr];zm43=[3*10e-4*cl 3*10e-4*cr];zm44=[4*10e-
4*cl 4*10e-4*cr]; 
zm45=[5*10e-4*cl 5*10e-4*cr];zm46=[6*10e-4*cl 6*10e-4*cr];zm47=[7*10e-
4*cl 7*10e-4*cr]; 
zm48=[8*10e-4*cl 8*10e-4*cr];zm49=[9*10e-4*cl 9*10e-4*cr]; 
loglog(flr,zm42,'k',flr,zm43,'k',flr,zm44,'k',flr,zm45,'k',flr,zm46,'k',f
lr,zm47,'k',... 
flr,zm48,'k',flr,zm49,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT Z INTERDECADE LINES fr .01 .1 
zm32=[2*10e-3*cl 2*10e-3*cr];zm33=[3*10e-3*cl 3*10e-3*cr];zm34=[4*10e-
3*cl 4*10e-3*cr]; 
zm35=[5*10e-3*cl 5*10e-3*cr];zm36=[6*10e-3*cl 6*10e-3*cr];zm37=[7*10e-
3*cl 7*10e-3*cr]; 
zm38=[8*10e-3*cl 8*10e-3*cr];zm39=[9*10e-3*cl 9*10e-3*cr]; 
loglog(flr,zm32,'k',flr,zm33,'k',flr,zm34,'k',flr,zm35,'k',flr,zm36,'k',f
lr,zm37,'k',... 
flr,zm38,'k',flr,zm39,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT Z INTERDECADE LINES fr .1 1 



zm22=[2*10e-2*cl 2*10e-2*cr];zm23=[3*10e-2*cl 3*10e-2*cr];zm24=[4*10e-
2*cl 4*10e-2*cr]; 
zm25=[5*10e-2*cl 5*10e-2*cr];zm26=[6*10e-2*cl 6*10e-2*cr];zm27=[7*10e-
2*cl 7*10e-2*cr]; 
zm28=[8*10e-2*cl 8*10e-2*cr];zm29=[9*10e-2*cl 9*10e-2*cr]; 
loglog(flr,zm22,'k',flr,zm23,'k',flr,zm24,'k',flr,zm25,'k',flr,zm26,'k',f
lr,zm27,'k',... 
flr,zm28,'k',flr,zm29,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT Z INTERDECADE LINES fr 1 10 
zm12=[2*10e-1*cl 2*10e-1*cr];zm13=[3*10e-1*cl 3*10e-1*cr];zm14=[4*10e-
1*cl 4*10e-1*cr]; 
zm15=[5*10e-1*cl 5*10e-1*cr];zm16=[6*10e-1*cl 6*10e-1*cr];zm17=[7*10e-
1*cl 7*10e-1*cr]; 
zm18=[8*10e-1*cl 8*10e-1*cr];zm19=[9*10e-1*cl 9*10e-1*cr]; 
loglog(flr,zm12,'k',flr,zm13,'k',flr,zm14,'k',flr,zm15,'k',flr,zm16,'k',f
lr,zm17,'k',... 
flr,zm18,'k',flr,zm19,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT Z INTERDECADE LINES fr 10 100 
z02=[2*10e+0*cl 2*10e+0*cr];z03=[3*10e+0*cl 3*10e+0*cr];z04=[4*10e+0*cl 
4*10e+0*cr]; 
z05=[5*10e+0*cl 5*10e+0*cr];z06=[6*10e+0*cl 6*10e+0*cr];z07=[7*10e+0*cl 
7*10e+0*cr]; 
z08=[8*10e+0*cl 8*10e+0*cr];z09=[9*10e+0*cl 9*10e+0*cr]; 
loglog(flr,z02,'k',flr,z03,'k',flr,z04,'k',flr,z05,'k',flr,z06,'k',flr,z0
7,'k',... 
flr,z08,'k',flr,z09,'k','LineWidth',.25)% 
 
 
%THS ADDS A SET OF CONSTANT Z INTERDECADE LINES fr 100 1000 
z12=[2*10e+1*cl 2*10e+1*cr];z13=[3*10e+1*cl 3*10e+1*cr];z14=[4*10e+1*cl 
4*10e+1*cr]; 
z15=[5*10e+1*cl 5*10e+1*cr];z16=[6*10e+1*cl 6*10e+1*cr];z17=[7*10e+1*cl 
7*10e+1*cr]; 
z18=[8*10e+1*cl 8*10e+1*cr];z19=[9*10e+1*cl 9*10e+1*cr]; 
loglog(flr,z12,'k',flr,z13,'k',flr,z14,'k',flr,z15,'k',flr,z16,'k',flr,z1
7,'k',... 
flr,z18,'k',flr,z19,'k','LineWidth',.25) 
 
%THS ADDS A SET OF CONSTANT Z INTERDECADE LINES fr 1000 10000 
z22=[2*10e+2*cl 2*10e+2*cr];z23=[3*10e+2*cl 3*10e+2*cr];z24=[4*10e+2*cl 
4*10e+2*cr]; 
z25=[5*10e+2*cl 5*10e+2*cr];z26=[6*10e+2*cl 6*10e+2*cr];z27=[7*10e+2*cl 
7*10e+2*cr]; 
z28=[8*10e+2*cl 8*10e+2*cr];z29=[9*10e+2*cl 9*10e+2*cr]; 
loglog(flr,z22,'k',flr,z23,'k',flr,z24,'k',flr,z25,'k',flr,z26,'k',flr,z2
7,'k',... 
flr,z28,'k',flr,z29,'k','LineWidth',.25)% 
 
%THS ADDS A SET OF CONSTANT Z INTERDECADE LINES fr 10000 100000 
z32=[2*10e+3*cl 2*10e+3*cr];z33=[3*10e+3*cl 3*10e+3*cr];z34=[4*10e+3*cl 
4*10e+3*cr]; 
z35=[5*10e+3*cl 5*10e+3*cr];z36=[6*10e+3*cl 6*10e+3*cr];z37=[7*10e+3*cl 
7*10e+3*cr]; 
z38=[8*10e+3*cl 8*10e+3*cr];z39=[9*10e+3*cl 9*10e+3*cr]; 
loglog(flr,z32,'k',flr,z33,'k',flr,z34,'k',flr,z35,'k',flr,z36,'k',flr,z3
7,'k',... 



flr,z38,'k',flr,z39,'k','LineWidth',.25)% 
 
grid 
% grid lines with the 'grid' here 
%THIS AXIS STATEMENT SETS THE NUMBER OF CYCLES ON THE PAPER; YOU CAN 
CHANGE  
axis([.1 10000 1 10000]) 
xlabel('Frequency, Hz','color','k') 
ylabel('Pseudo Velocity, ips','color','k') 
%title('Shock Spectrum Four Coordinate Paper') 
set(gca,'DefaultTextRotation',45) 
text('Position',[1700 1.5],'String','0.0001"','color','k') 
text('Position',[170 1.5],'String','0.001"','color','k') 
text('Position',[17 1.5],'String','0.01"','color','k') 
text('Position',[4000 3600],'String','0.1"','color','k') 
text('Position',[400 3600],'String','1.0"','color','k') 
text('Position',[40 3600],'String','10"','color','k') 
text('Position',[4 3600],'String','100"','color','k') 
text('Position',[.4 3600],'String','1,000"','color','k') 
%text('Position',[.04 3600],'String','10,000"','color','k')%Add if freq 
down to .01 
set(gca,'DefaultTextRotation',-45) 
%text('Position',[.013 6.5],'String','0.001 g','color','k')%Add if freq 
down to .01 
text('Position',[.13 6.5],'String','0.01 g','color','k') 
text('Position',[1.3 6.5],'String','0.1 g','color','k') 
text('Position',[1.3 65],'String','1 g','color','k') 
text('Position',[1.3 650],'String','10 g','color','k') 
text('Position',[1.3 6500],'String','100 g','color','k') 
text('Position',[10 8000],'String','1000 g','color','k') 
text('Position',[100 8000],'String','10,000 g','color','k') 
text('Position',[1000 8000],'String','100,000 g','color','k') 
set(gca,'DefaultTextRotation',0) 
%The following enlarges the tick lengths; which worked just fine 
set(gca, 'TickLength', [0.05 0.1]) 
set(gca,'GridLineStyle','-') 
set(gca,'MinorGridLineStyle','-') 
hold off 
%I had some interesting result with the "orient landscape" command prior 
to printing. 



%**** PVSSZ.m ***** 090906  (** the Z is for getting resid wi zeros) 
%by Howard A. Gaberson, 234 Corsicana Dr.; Oxnard, CA 93036-1300 
%(805)485-5307, hagaberson@att.net 
% 
%Calculates the overall PVSS per Gaberson algorithm presnted in "SHOCK  
%SPECTRUM CALCULATION FROM ACCELERATION TIME HISTORIES" Technical Note TN 
no. 
%N-1590 Civil Engineering Laboratory, Naval Construction Battalion 
Center,  
%Port Hueneme, CA 93043.  1980;  AD A097162, available from, 
www.dtic.mil; 
%or  www.ntis.gov 
% 
%Program expects file YYDD of accelerations in g in workspace.   
%Values for flow, fhigh, fs, fpd, zeta are edited into here. 
nv=length(YYDD);% nv= number of values in shock 
YYDD=YYDD(:);%assure YYDD a column 
%*********you must set a low frequency here. ***UNDERFLOW ERROR IF 
FS/FLOW >=720,000 
flow=.3; 
%*********you must set a high freq here 
fhigh=25000; 
%********* Now spec a SAMPLING RATE (SAMPLES/SEC.) 
fs=204800; 
%*********Now set FREQS PER DECADE, (ABT 100-200, BUT WHATEVER) 
fpd=100; 
%*********Insert your damping ratio here with a value for zeta 
zeta= 0.05; 
flowlog=log10(flow); 
c2=round(flowlog)-1; 
jlow=fpd*(flowlog-c2); 
jstart=fix(jlow); 
if(jlow ~= jstart); 
 jstart=jstart+1; 
end; 
fstart=10.^(jstart/fpd+c2); 
jstop=round(fpd*(log10(fhigh)-c2)); 
fstop=10^(jstop/fpd+c2); 
nfreqs=jstop-jstart+1; 
tpi=2*pi; 
G=386.087; 
yy=G*YYDD; 
h=1/fs; 
eta=sqrt(1-zeta^2); 
tzeta=2.*zeta; 
om2zs=1.-tzeta*zeta; 
zmin=zeros(size(1:nfreqs)); zmax=zmin; 
f=10.^((jstart:jstop)./fpd+c2); 
 
for jj=1:nfreqs; 
 wom=tpi*f(jj); 
 wh=wom*h; 
 eps=exp(-zeta*wh); 
 a15=-eps*eps; 
 ewh=eta*wh; 
 kap=cos(ewh); 
 sig=sin(ewh); 
 k1=om2zs*eps*sig/eta; 



 ek=eps*kap; 
 a16=2*ek; 
 w3h=1/(wh*wom*wom); 
 a24=w3h*(tzeta*ek+a15*(tzeta+wh)+k1); 
 a25=2*w3h*(wh*ek-k1-zeta*(1+a15)); 
 a26=w3h*(k1+tzeta*(1-ek)-wh); 
 % zadd is number of zeros to append, to get residual spectrum.  
 zadd=ceil(fs/f(jj)); yytemp=[yy; zeros(zadd,1)]; 
 %XDD=filter(b,a,YDDtemp); 
 %XDDMAX(n,1)=max(abs((XDD))); 
 
 z=filter([a26 a25 a24],[1 -a16 -a15],yytemp); 
 
 zmax=max(z); zmin=min(z); 
 pvmin(jj)=wom*abs(zmin); 
 pvmax(jj)=wom*abs(zmax); 
end 
%Now plot max(pvmin,pvmax) vs f on a log log scale 
 
loglog(f,max(pvmin,pvmax)) 
handle1=line(f,max(pvmin,pvmax)); 
set(handle1,'linew',1.5,'color','k') 
% 
%To apply fourcp for four coordinate paper. 
%type hold on;fourcp;hold off; 



%timhist3.m 090907  
%Shock acceleration time history and its two integrals plotted as three 
subplots.  
%Program expects file YYDD of accelerations in g and sample rate fs in 
workspace. 
%It forms a time vector, tt. 
%After running and plotting, YYD in ips, and YY in inches, remain in the 
workspace. 
%You must change title 
G=386.087 ; 
tt=(1:length(YYDD))/fs; 
subplot(3,1,1) 
plot(tt,YYDD),grid 
ylabel('Acceleration, gs') 
title('Time History of half sine');%*****Modify title to suit. 
yydd=G*YYDD; 
h=1/fs; 
YYD=h*cumtrapz(yydd); 
subplot(3,1,2) 
plot(tt,YYD),grid 
subplot(3,1,2) 
ylabel('Velocity, ips') 
subplot(3,1,3) 
YY=h*cumtrapz(YYD); 
plot(tt,YY),grid 
subplot(3,1,3) 
ylabel('Displacement, in') 
subplot(3,1,3) 
xlabel('Time, seconds') 
subplot(111) 
 


